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KOHTPOJIBHOE 3AJTIAHUE Ne 4

UrtoOBl MpaBUIBHO BHIMOIHUTH 3aaHue No 4, He0OXOUMO MTOBTOPHUTH
rpaMMaTU4ecKuid M JIEKCMUYECKUM MaTepuai NpeablayluX 3aJaHuid,
mpodecTh W TIEPEBECTH  TEKCTHI ~ METOJMYECKMX  YKa3aHWi,
PEKOMEHTyeMBbIX Kadenpoil, 3aKpenuTh CIOBa U BBIPAKECHUS, YCBOUTH
CIIE/IYIOINE TPaMMAaTHYECKHUE TEMBI:

1 Cnoxueie ¢opmbl umHpuHHTHBa (Passive Infinitive). OOopoTHI,
paBHO3HAYHBIC MPUAATOYHBIM TPE/IIOKEHUSIM: 00BEKTHBIN
WHQOUHATUBHBIA 000pOT, CyObEeKTHBIA MHPUHUTHBHBIA 000POT.

2 Tlpuuactus (Participle 1, Il). He3aBucumbiii (CaMOCTOSITEIbHbIN)
MPUYACTHBIA 000POT.

3 YcrnoBHBIE PEATIOKEHUS.

4 Oynknny nHQUHUTHBA (TIOBTOPEHUE).

O6pasen BpimoJanenus 1 (k ynpaskuenmuio |)
To read English is a great pleasure. | UuraTs Mo-aHIIMHACKA — OOIBIIOE
YIIOBOJIBCTBHE.
(B hyHKIIMM TTOIIIEKAIIIETO)
His task was to read and to trans- | Ero 3amadeii ObLIO IpOYMTATH MU

late the text [IEPEBECTH TEKCT.
(B pyHKIMM MMEHHOM YaCTH COCTAaBHOTO CKa3yeMOro)
He likes to read English EMy  HpaBUTCS  YMTaTh  IO-
AHTTIHACKA
(B GyHKIMM NOTIOTHEHNS)
To know a foreign language well | Yto6w! XOpOIIIO 3HATh

you must learn many words. WHOCTPAHHBIH  S3BIK,  HYKHO

BBIYYHUTH MHOI'O CJIOB.

(B pyHKIIMM OOCTOSTENHCTBA TIEITH )

Oo6pazen BbimosHenus 2 (K ynpa:kuenuio |1)

The device to be tested has been
brought to our laboratory.

[pubop, KOTOPBII HY>XHO
UCIBITaTh, TMpPHUHECIH B  HaIly
J1a00paTOPHIO.

(vHOUHUTUB B PYHKIIMU ONIPEAETCHUS)

We want the device to be tested in
our laboratory.

Mpbl XOTHM, 4YTOOBI 3TOT MPUOOP
HCIIBITHIBAJICS B Hamiei
naboparopuu

(0OBEeKTHBIM HHOUHUTHBHBIH 000POT)

The device is said to have been
tested at a Research Institute

I'oBopsT, 4TO MPUOOP HCHBITHIBAIN
B HAy4YHO-HCCIIEA0BATENIbCKOM
WHCTUTVYTE

(cyOBeKTHBIN MHPUHUTHBHBIH 000pOT)

It is important for the researchers
to fulfill their work in time

Ba)KHO, qTOOBI YYCHBIC BBITTOJTHUIIA
paboTy BOBpeMS.

(uHQUHUTHBHBIN 000pOT C mpeasiorom for)

Oopazen BbimosHenus 3 (k ynpaxkuenuio 1V)

Translating the article he consulted
the dictionary

IepeBojst cTaThIO, OH MOJIB30BAJICS
cloBapeM

(B pyHKIIMK OOCTOSITEILCTBA)

The stars shining in the dark sky
seemed blue

3Be3/bl, CUABIIME B TEMHOM HeOe,
Ka3aJImcCh TOyOBIMU

(B pyHKIHHU OTIpenmeneHus)

They used the improved methods
of work

OHHM UCMONIBL30BANIU  YITyUIlICHHBIC
METOJBI PabOTEHI.

(B pyHKIHHU OTIpeneneHus)

When asked this question, the stu-
dent could not answer it at once

Korma crymenty 3amamu  3TOT
BOIIPOC, OH HE CMOT OTBETUTHh Ha
HEro cpasy

(B pyHKIIIM OOCTOSITENTHCTBA)

The letter was sent last week

[Tucemo OBLTO OTIPaBIIEHO Ha
MPOLIOH Hezene

(JacTh riarona-cka3zyeMmoro)



O6pazen BoimoaHenusi 4 (k ynpa:xxknenuio V1)

If the weather is good, we shall go
skiina

Ecnu moroma Oyner xopomasi, Mbl
MoeneM KaTaTbcs Ha JIbDKaX.

(ycnoBHOE nipeyiokeHue 1-ro Tuma)

If the plane landed, they would let

Ecou Obl camorner MMPpU3EMIINIICA,

us know about it OHH OBI HAM COOOIIMIHN 00 3TOM.
(ycnoBHOE TIpeIoKeHre 2-ro THIIA)

If | had seen him yesterday, | | Eciu Obl st BcTperui ero Buepa, s
should have told him about the | Ob1 cka3zan emy o cobpanuun
meeting.

(ycnoBHOE TIpeIoKeHre 3-ro THIIa)

Bapuantl1

| l'[epermane NPEAIOKECHUA, ONMPEACIUTE B HHUX (l)yHKH]([lO
I/lH(l)I/lHI/ITI/IBa n MEPEBECAUTE NMPEATOKEHUA HA pyCCKI/Iﬁ AI3BIK (CM.
oOpa3zen BbImoHeHus 1).

1 The task of the engineer is to control heavy trains by radio sig-
nals.

2 A new comfortable coach was developed to transport people
over long distances.

3 | am very pleased to meet you.

4 To develop national economy is a very complicated task.

Il lepenuiuiuTe ¥ MUCHLMEHHO NepeBeAUTe HAa PYCCKHIl SI3BIK
NpeaIoKeHus. ITomuuTe, 4TO MH(UHUTUBHbIE 000pOTHI
COOTBETCTBYIOT NPHAATOYHBLIM NpeaoKeHHsiM (CM. oOpa3en
BbINMOJIHEHHUA 2).

1 Itis important for the scientists to carry out this experiment.

2 The engineer expected the work to be done in time.

3 The new plant to be constructed here will be the largest in
the country.

4 The members of the committee are reported to come to an
agreement.

5 He wanted us to visit the art exhibition.

11l Beinumere u3 TekcTa 2 mNpeAIOKeHUS] € O0BEKTHBIM
UHGUHUTHUBHBIM O00POTOM W 2 MNpeAIoKeHHs] ¢ CyObeKTHBIM
uHGUHU-

THBHBIM 0060poToM. IlepeBennTe X HA PYCCKHUI SI3BIK.

IV Ilepenumure mpemioxenusi, mogyepkuure Participle | u
Participle Il u ycranoBuTe GyHKIUH Ka)KIAOro M3 HHUX, T. €.
YKAKUTE, ABJIAKNTCH JIM OHO ONPEACJICHUEM, 00CTOATEIHLCTBOM WM
YaCTbI0 Ijiaroja-ckasyemoro. HepeBe)mTe NMpeaIoKCHUsI HA pyCCRI/Iﬁ
A3BIK (CM. o0pa3el BbINOJIHEHU 3).

1 The results received were of great importance for further work.

2 When constructed the railway was carefully tested.

3 While translating the article the student consulted the dictionary.

4 This instrument is preferred to all others because of its
great reliability.

5 The people living in the XVIII century traveled in carriages.

Vv Hepelmlmne U NMUCBMEHHO IIEPEBCAUTE Ha pyCCKI/Iﬁ A3BIK
NpeaIoKCHUA. OﬁpaTI/lTe BHMMaHHE Ha MepeBOa 3aBHCUMOI0 H
HE3aBHCHMOI0 (CAMOCTOSATEILHOT0) MPUYACTHBIX 000POTOB.

1 The experiment having been made, everybody was interested in
the results.

2 The project having been completed, the engineer submitted it to
the commission.

3 Discussing the design of the device they changed some parts in it.

4 Having finished the test he put down the results.

5 Not having found the necessary book at home he went to the
library.

VI Ilepenummute npeio:xkenusa. Omnpegenure TUN YCJIOBHBIX
npeajoxkenuil. IlepeBenurTe npenioKeHHs] HA PYCCKUM SIBBIK (CM.
o0pazell BbINOJHEHHS 4).

1 If I come home early, | shall be able to write my report today.

2 If he were at the Institute now, he would help us to translate the
artcle.

3 If you had come to the Institute meeting yesterday, you would
have met with a well-known English writer.

4 You will get good results, if you apply this method of calculation.

5 If he had taken a taxi, he would have come in time.

VIl Ilpoutnte U ycTHO mepeBenuTe 1 — 4-ii aG3ambl Tekcra.
IepennmmnTe u nucbMeHHO nepeBeauTe 1, 2 U 4-ii a03anbl TeKCTA.



KINDS OF LOCOMOTIVES

1 We know diesel locomotives to be actually traveling power plants.
They have a diesel engine that works by compressing air in chambers called cylin-
ders.

When air is compressed, its temperature rises. The resulting heat ig-
nites fuel that has been injected into the cylinder. The power produced
during this process is then transmitted to the locomotive's driving wheels.

2 Diesel locomotives have a number of advantages. They generate
their own power and therefore can operate anywhere that there are rails.
Diesel locomotives can also make long runs without refueling or servic-
ing. They can be quickly stopped or started, and they speed up faster
than steam engines. They also have a higher fuel efficiency than steam
locomotives, require less servicing, and cost less to maintain.

3 A diesel locomotive can be a combination of one to four or more
connecting units. These units are known to be of two general types
called A and B. An A unit is designed and equipped for use by itself or
as a lead unit when a number of units are combined. A B unit does
not have the engineer's cab and controls needed to serve as a lead unit,
and it is capable of only limited independent movement. A diesel locomo-
tive may consist of a single A unit or of two, three, four, or more A
and B units coupled together.

4 Railroads often use locomotives with six or even more units to
pull heavy trains at high speeds or on mountain grades. Sometimes one or
more radio remote control units are also used on extremely long trains.
These units are known to be placed near the middle of the train. The
engineer controls then by the radio signals from his cab. We know the
cab to be located in the lead unit at the front of the train.

VIII OTBeThTe NHCHbMEHHO HA BONMPOCHI K TEKCTY:
1 What locomotives have a high fuel efficiency?

2 How does the engineer control extremely long trains?
3 Where is the cab of the engineer located?

Bapuaunr 2

| llepenumnTe NPeNJOKEHUNA, ONPeAeSUTe B HUX PYHKIIHIO
UHGUHUTHBA U NepeBeJUTEe NPeNJOKEeHUS HAa PYCCKHIl S3BIK
(cm. oOpa3en BbInoJgHeHus 1).

1 To produce modem locomotives is a very important task.

2 To get god results one must work hard.
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3 I'malways ready to help.

4 Our aim is to develop national economy.

Il Ilepenumure W TmepeBeIuTe HAa PYCCKHH A3BIK
npennoxenusa. IlomHnTe, 4YTO HHPUHUTHBHBIE O00OPOTHI
COOTBETCTBYIOT MNPHAATOYHBIM THpeAJoKeHHsAM (cM. oOpaser
BBINOJIHEHUS 2).

1 The English delegation is believed to come at the end of the month.

2 We expect you to show good results.

3 It is important for you to make a report at the conference.

4 The engine to be installed in this locomotive is very powerful.

5 The lecture is said to be very interesting.

Il BeinummuTe M3 TeKcTa 2 NPEAJOXKEHUS € O00bEeKTHBIM
HUHQPUHUTHBHBIM 000pPOTOM M 2 MNpeAToKeHHS C CYy0ObeKTHBIM
HHQPUHUTHBHBIM 000poToM. IlepeBeanTe HX HA PyCCKUIl SA3BIK.

IV Ilepenumure npennoxkeHusi, noxuepkuurte Participle | u
Participle Il u ycranoBuTe (YHKOMH KaKI0r0 M3 HHUX, T.e.
YKaKUTEC, ABJACTCHA JIU OHO ONMPEACTICHUEM, 00CTOSATEIHLCTBOM
WJIH YaCTBI0 IJj1aroJjga-ckasyemoro. HepeBezmTe NPEeAJOKCHUSA HA
PYCCKMii I3bIK (CM. 00pa3el BbINMOJHEHH 3).

1 The new engine was designed by our engineers.

2 Applying this method we get better results.

3 When properly adjusted any installation works well.

4 The explanation given was not complete.

5 The people living in the XX century traveled in automobiles.

V IlepenuiiuTe U NHCbMEHHO MepeBeUTEe HA PYCCKUIl SI3BIK
npenio:kenus. O0OpaTuTe BHUMAaHUeE HA TMepPeBO] 3aBHCHMOIO0 U
He3aBHCHMOI0 (CAMOCTOSITEILHOT0) MPHYACTHBIX 000POTOB.

1 Railways use many types of locomotives, the most powerful of
them operating on main lines.

2 Nobody being on the highway, he was driving his car very fast.

3 Having been given all the instructions, they started their tests.

4 Having improved this device, they could use it for many purposes.

5 Not having done the work in time, | had to apologize to them.

VI Ilepenumure mnpeioKeHUs] oOIpeldeJuTe THI YCIAOBHBIX
npenioxkenuii. IlepeBequre mnpeasio:KeHUsi HA PYCCKHH S3BIK
(cM. oOpasel BbINOJHEHUS 4).



1 If you press the button, the device will start working.

2 If the speed of the body were 16 km per second, it would leave
the solar system.

3 If he had not been so late now, | should have gone to the country.

4 The design would be ready by the end of the year, if they supply
us with all the necessary equipment.

5 If the air were only composed of nitrogen, burning would
be impossible.

VIl TIpoutute m ycTHO mepeBeauTe 1-4-ii aG3aubl TeKcTAa.
IlepenumuTte 1 NUcbLMeHHO NepeBenuTe 1, 2, 4-i ad3anbl TeKcTAa.
THREE TYPES OF DIESEL LOCOMOTIVES

1 There are three types of diesel locomotives: 1) diesel-electric,
2) diesel-hydraulic, and 3) diesel-mechanical. Each transmits power from
the engine to the driving wheels in a different way. Diesel electric locomo-
tives are by far the most common type. We know almost all locomotives
on the railroads to be diesel-electrics. In these locomotives, the engine
drives a machine called a generator, which produces an electric current.
The current is then fed to traction motors, which drive gears that turn the
locomotive's driving wheels.

2 Most diesel-electrics are known to have generators that produce di-
rect current (DC), a kind of current that flows in only one direction. Gen-
erators on some newer, larger diesels produce alternating current
(AC). Which reverses direction many times every second. Most die-
sels have traction motors that operate on direct current. Therefore, lo-
comotives with an AC generator must rectify (convert) the alternating
current into direct current before it goes to the motors. Devices called
silicon rectifiers perform these conversion.

3 Diesel-hydraulic locomotives. In this type of locomotives, the en-
gine drives a torque converter instead of a generator. A torque con-
verter is known to be a device that uses fluids under hydraulic pressure
to transmit and regulate power received from the engine. The convert-
er includes a pump and a turbine. The turbine changes energy from
the fluids into a force that can be used to perform a work.

4 Diesel-mechanical locomotives transmit the power from the engine in
much the same way that automobiles do - through a clutch and a system
of gears and shafts. We know the clutch to connect the engine to the
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transmission. The gears and shafts fit together to transmit the power
and drive the wheels. This mechanical drive delivers less power than do
other systems, and so it works well only on small locomotives

VIl OTBeTbTe NMCHMEHHO HA BOMPOCHI K TEKCTY:
1 What are the types of diesel locomotives?

2 What do most diesels have?

3 What does the converter include?

Bapuant3

| Hepenmmne NpPEAJIOKEHUA, OIPEACIUTE B HHUX Q)yHKIII/IlO
I/IH(I)HHHTHBa U NMEPEBEANTE NMPEAJTOKEHUA HA pYCCKI/Iﬁ A3BbIK (CM.
o0Opasen BbInoJHeHus 1).

1 A very important task is to produce modern locomotives.

2 We were glad to take part in that expedition.

3 We stopped to have a rest.

4 Todrive a car in a big city is very difficult.

Il IlepenumuTe U NMUCHMEHHO IepeBeHTEe HA PYCCKHH S3bIK
MNPEAI0KCHUA, INOMHHUTE, 4qTo I/IHq)I/IHl/ITl/IBHbIe OﬁopOTbI
COOTBETCTBYHOT NnpuaaTo4YHbIM NPEAJT0KCHUAM (CM. 06pa3eu
BBINOJIHEHUS 2).

1 We thought him to have taken part in their experiment.

2 Itis necessary for you to achieve better results.

3 The speed to be attained by modern trains is often limited by
the conditions of the track.

4 The delegation is reported to arrive tomorrow

5 These two scientists happen to work at the same problem.

11l Bpimummre HW3 TeKCTa 2 MNPelIOKeHHS ¢ O00beKTHBIM
MH(UHUTUBHBIM 000POTOM U 2 MNpelIOKeHUSI € CYObEKTHBIM
UHGUHUTUBHBIM 000poTOM. IlepeBennTe NX HA PYCCKUI A3BIK.

IV Tlepenumure mnpenioxeHus, momxuepkHure Participle | u
Participle 1l u ycraHoBuTe QYHKIHH Ka}XA0r0 U3 HHX, T.€.
YKaKuTe, sIBJISIETCS JIM OHO OINpeaesieHHeM, 00CTOATeILCTBOM HJIH
4acThI0 Iiarosia-ckasyemoro. [lepeBeauTe npeasiokeHusi HA PYCCKMii
SI3bIK (CM. 00pa3el] BHINMOJTHEHHs 3).

1 The constructed railway was 150 miles long.

10



2 When asked this question, the student could not answer it at once.

3 The scientists carrying out research in nuclear physics deal with
the most difficult problems.

4 Developing his new theory he was making many experiments.

5 All the work will be done by automatic machinery.

V Tlepenuumiure M NHCbMEHHO MNepeBeAUTe Ha PYCCKHH
A3BIK NpEeaJa0KCHUA. OﬁpaTnTe BHUMaHHue Ha nepeBoa
3aBHUCHUMOI'o M HE3aBHCHUMOI'O (CaMOCTOHTeJ'IbHOFO) NPpUIACTHBIX
000pOTOB.

1 The locomotive tested, some improvements had to be made in its
design.

2 All the problems having been solved, they stopped the discussion.

3 Having obtained the necessary results, they stopped their experi-
mental work.

4 The designer changed some details while testing the device.

5 Having arrived two days before the opening of the conference
they had enough time to go sightseeing.

VI IlepenumuTe Mpeasio:KeHUsA U ONMpeaeuTe TUN YCJIOBHBIX
npeaiaoxenuii. IlepeBeauTe NpeayioKeHUs] HA PYCCKHUI SA3BIK
(cM. oOpa3en BbINOJHEeHUS 4).

1 If it were necessary to increase the speed of this particular engine,
it could be achieved by using a special device.

2 If the road had been better, we should have been here in time.

3 If the books on that subject were available in our library, I should
be able to make a good report.

4 If he had all the necessary materials, he would accomplish his
model in time.

5 If they had met with such difficulties before, they would have
known what to do now.

VI IIpouruTe 1 ycrHo nepeBeaute 1-4-ii ad3anpl Tekcra. Ilepenummmre

W MUCbMEHHO nepeBequTe 1-3-if ab3ampI TeKcTAa.
STEAM AND ELECTRIC LOCOMOTIVES

1 Steam locomotives produce heat by burning coal or fuel oil in a
firebox. The heat turns the water in the locomotive's boiler into steam
which is fed into cylinders. There, the pressure produced by the steam
drives steel rods called pistons. We know the pistons to be connected to
piston rods, main rods, and side rods, which move the driving wheels.
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A steam locomotive has an attached car called a tender that carries the
fuel and water.

2 Steam locomotives have several disadvantages. For example, a steam
locomotive needs frequent care, especially to keep the fire burning in the
boiler. A long time is known to be required to light the fire and to heat the
boiler so that steam can be produced. In addition, steam locomotives can
not maintain the high average speeds of diesel and electric locomotives.
They also have low fuel efficiency.

3 Electric locomotives, unlike diesels, do not produce their own power.
They use electric power supplied by a central power plant that may be
miles away. Therefore, an electric locomotive needs wires or rails from
which it can get power. We know diesels to be limited to the power they
can produce from the fuel they carry. Electric locomotives can be started
instantly. They also are quiet and produce no smoke or exhaust gases.
Thus, they are sometimes used in heavily populated areas and on railroads
that run underground and through long tunnels.

4 Like diesels, most electric locomotives can operate either singly
or combined in groups of two or more units. However, electric locomo-
tives can produce more power per unit than diesels can. Therefore, electric
locomotives are known to be especially useful for fast, heavy freight
trains or high speed passenger trains.

Many kinds of fuel can be used by a power plant to produce the elec-
tricity that runs an electric locomotive. Diesel locomotives can run only
on diesel oil, which someday may become scarce and costly.

VIII OTBeThTe NHCHMEHHO HA BONMPOCHI K TEKCTY:
1 How do steam locomotives produce heat?

2 What does a steam locomotive have?

3 Where are electric locomotives used?

BapuanrT 4

| IlepenummuTe MpeaioKeHusl, onpeaeJuTe B HUX PYHKIHIO
MHQUHUTHBA M NepeBeAMTe MNMpeNJ0KeHUS HAa PYCCKHH S3BIK
(cMm. oOpa3en BbImoJHeHus 1).

1 To produce modern locomotives one must work hard.

2 We were delighted to hear of your success

3 His aim is to read English books in the original.

4 To pull heavy trains at high speeds is very difficult.

12



Il TlepenumuTe U NMUCHMEHHO NepeBeIUTe HA PYCCKHH A3BIK
NpeaI0KeHusl. Ilomuure, 9TO0 UH(pUHUTHBHBIE 000pOTHI
COOTBETCTBYIOT NPHAATOYHBIM TNpeAToKeHHsIM (cM. oOpasen
BbINOJIHEHUA 2).

1 This plant is considered to be the best in the town.

2 It is necessary for the engineers to test this new equipment.

3 The major problem to be solved in passenger service is the
construction of the locomotives to run at speeds up to 500 kph.

4 He made us do the work again.

5 We didn't expect the discussion to be so interesting.

1l BpmumuTe M3 TeKcTa 2 MNpeoKeHUs] ¢ O00BEKTHBIM
HHPUHUTUBHBIM 00OPOTOM M 2 TPeMIOKeHUs] € CyObeKTHBIM
HH(PUHUTHBHBIM 000poToM. IlepeBeanTe MX HA PYCCKHUH A3BIK.

IV  Tlepenummure mnpenioxeHusi, nmoxdepkuure Participle | n
Participle Il um ycranoBuTe (QYHKIMM KaXI0r0 W3 HHX, T.€.
YKAKUTE, ABJIAACTCA JIK OHO OIPEACJICHUEM, 00CTOSAATEJLCTBOM
HJIX YaCTbhbI0 IJ1aroja-ckadyemMoro. l'[epeBezmTe NpPEAJOKCHUA Ha
pYCCKHIi A3bIK (CM. 00pa3eln BbINOJHeHHs 3).

1 The laboratory is equipped with automatic machinery.

2 If properly conducted the experiment must bring the desired re-
sults.

3 The railways must satisfy the growing needs of national economy.

4 The constructed railway carried heavy traffic.

5 When studying elements Mendeleyev found that they could
be divided into nine groups.

V IMepenumuTe ¥ NMUCHbMEHHO NepeBeAUTE HA PYCCKHMl fA3BIK
npemio:kenusi. O0parute BHUMaHHEe HAa NepeBOX 3aBHCHMOI0 H
HE3aBUCUMOI0 (CAMOCTOSITEJILHOI0) IPUYACTHBIX 000POTOB.

1 Electronics having been introduced, the efficiency of railway
operation considerably increased.

2 The working day being over, the city transport was overcrowded.

3 Having discussed some changes of the design the engineers be-
gan testing the device.

4 Having finished their research work they published an article.

5 Having come to the hotel she made herself comfortable in the
room.
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VI Tlepenuiuute mpenio:KeHUsi W ONpedeauTe THI YCJOBHBIX
npeanoxenuii. IlepeBeanTe mpenioxkeHUs HAa PYCCKHMH SI3BIK (CM.
o0pa3sen BbINOJHeHHs 4).

1 If the engineer had been informed of the results before, he would
have allowed you to repeat the test.

2 If the mechanic were there, he would repair the equipment.

3 If we had used new methods, we should have saved much time.

4 The plan would not have been fulfilled in time if the people had
not worked with such energy.

5 If the oil supply had stopped even for a moment, serious damage
might have resulted.

VIl IlpoutuTe M ycTHO mepeBeaute 1-5-if a0d3ambl TekcTa.

IlepenummnTe U NMcbMeHHO NepeBeauTe 1-4-ii ad3anbl TekcTAa.
DIESEL ENGINE

1 History. The diesel engine is named for Rudolf Diesel, the Ger-
man engineer who invented it. Diesel patented his design for the en-
gine in 1893. The engine exploded and almost killed him, but it proved
that fuel could be ignited without a spark. He operated his first successful
engine in 1897.

2 We know diesel engine to be a type of internal-combustion en-
gine used chiefly for heavy-duty work. Diesel engines drive huge
freight trucks, large busses, tractors and heavy road building equip-
ment. Diesel engines are known to be used to power submarines and
ships, as the generators of electric-power stations in small cities, and
emergency electric-power generators. Some automobiles are powered by
diesel engines.

3 Kinds of diesel engines. There are two main types of diesel engines.
They differ according to the number of strokes required to complete a cy-
cle of air compression, power, exhaust, and intake of fresh air. A stroke is
known to be an up or down movement of a piston. These engines are 1)
the four-stroke cycle engine and 2) the two-stroke cycle engine.

4 In a four-stroke cycle engine, each piston moves down, up, down,
and up to complete a cycle. The first down stroke draws air into the cyl-
inder.The first upstroke compresses the air. The second down stroke
is the power stroke. The second upstroke exhausts the gases produced
by combustion. A four-stroke engine requires exhaust and air-intake
valves.

5 In a two-stroke cycle engine, the intake and exhaust processes occur
near the end of the piston down stroke, or power stroke. The two-stroke
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cycle engine does not need valves. As the piston rises during the up-
stroke, it compresses the air and closes the intake and exhaust ports. We
know the fuel to be injected near the end of this compression stroke. As
the two-stroke cycle engine has twice as many power strokes as the
four-stroke cycle engine, it provides more power.

VIl OTBeTbTe NUCBLMEHHO HA BOMPOCHI K TEKCTY:
1 Who invented the diesel engine?

2 What do diesel engines drive?

3 What are two main types of diesel engines?

Bapuanr$5

| l'[epermllmTe Npeaa0KCHUusl, OonpeaecjuTe B HHX (l)YHKIIHlO
HH(PUHUTHBA U NepeBeUTe UX HA PYCCKHil s3bIK (CM. oOpa3selr
BbINoJiHeHus 1).

1 To pull heavy trains at high speed one must use modern locomo-
tives.

2 To read English magazines in the original is not easy.

3 | like to speak English.

4 Our plan is to start at once.
Il IlepenumuTe MW NHCbMEHHO TIepeBeIUTEe HA PYCCKHIl SI3BIK
Npeaa0KCHUs. HOMHI/ITC, 4qTo l/IH(l)l/lH]rlTPlBHble 060p0TI>I
COOTBETCTBYIOT NpuIaTO4YHbIM MNPEAJTOKCHUAM (CM. oﬁpaseu
BbINOJIHEHHS 2).

1 The first steam locomotive to haul a load along a railway came in 1804.

2 It is necessary for the scientists to fulfill their research work in
time.

3 The results of the test are expected to be very interesting.

4 They wanted the plan to be improved.

5 She seems to know English and French.

11l BpImumuTe W3 TeKCTa 2 MNpelIOKeHHS ¢ 00beKTHBIM
UHPUHUTUBHBIM 000POTOM U 2 IIpelIoKeHHs] ¢ CYObeKTHbIM
UHGUHUTUBHBIM 000poTOM. IlepeBequTe UX HA PYCCKUIl A3BIK.

IV IlepenumuTe npenioxeHus, noxuepkuure Participle | u Par-
ticiple Il u ycraHoBuTe (PYHKIMH KaKI0OT0 M3 HUX, T.e. YKAKHUTE,
SIBJISIETCSl JIH OHO OMpeeeHneM, 00CTOATeLCTBOM HJIH YaCThIO
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rjaroJia-ckazyemoro. IlepeBequre mpemiokeHus] HA PYCCKHI SI3BIK
(cM. oOpa3zen BeINOJIHeHUs 3).

1 When conducting the experiment, he used up-to-date equipment.

2 When repaired the automobile moved at high speed.

3 The speeds developed by electric locomotives are enormous.

4 The law defining the properties of inertia was formulated
by Newton.

5 The experiments will be completed by the end of the week

V Hepel’ll/IlIIHTe H IMHCbBMEHHO MEPEBEAUTE HAa pyCCKHﬁ A3bIK
npeaaoKCHUs. OﬁpaTI/ITe BHUMAaHHUE Ha NMEPEBOA 3aBUCHMOIo M
He3aBHCHMOIO (CaMOCTOSITEILHOI0) MPUYACTHBHIX 000POTOB:

1 The goods having been loaded, the workers left the railway station.

2 Hard manual labour having been replaced by machines, the con-
struction work takes less time and money.

3 Having been tasted for a long time the device was recommended
for application.

4 Having waited for him for half an hour they went home.

5 Having read Petrov's report attentively the teacher came across a
few mistakes in it.

VI Ilepenumiute npeaioKeHHss W ONpeaeJuTe THN YCIOBHBIX
npemioxxennid. IlepeBenure mnpeniokeHuss Ha PycCKHd fA3BIK (CM.
odOpa3zen BbINOJHeHUS 4).

1 If they change some details, they will be able to improve the design.

2 If | had seen him yesterday, | should have told him about the
meeting.

3 If you had planned your time better, you wouldn't have come to the
station one minute before.

4 1f we had repaired the engine yesterday, we should have left the
town before sunrise.

5 If you go there by plane, you will come in time for the conference.

VIl IIpoutute M ycTHO mepeBeaute ¢ 1-5-f ad3ambl TekcTa.
IlepenumuTe 1 MUCbMEeHHO NepeBeanTe 1-4-i ad3ambl TeKcTAa.
ENGINES
1 There are two main types of internal combustion engines — gasoline engines and
diesel engines. The gasoline engine, found in most cars, is a spark-ignition
engine. It uses electricity and spark plugs to ignite the fuel and air mix-
ture in the engine's cylinders. The diesel engine is a compression-ignition
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engine. It compresses the air in the cylinders, causing the temperature of
the engine to rise. Fuel injected into the hot, compressed air immediately
ignites.

2 Diesel engines have a high thermal efficiency, or ability to convert the stored
chemical energy in the fuel into mechanical energy. Diesel engines are known to be
suited for heavy-duty work because they are larger and heavier than gasoline engines
or equal power and therefore can better withstand heavy loads. In addition, diesel
engines burn diesel oils which require less refining and are cheaper than higher-grade
fuels such as gasolines.

3 We know engine to be a machine that converts energy into mechanical work.
An engine may get its energy from any of a number of sources, including fuels,
steam and air or water under pressure.

4 Gasoline engines use the chemical energy of burning gasoline to push one or
more pistons. We know gasoline engines and steam engines to be called heat engines
because they convert heat energy into mechanical work.

5 The steam engine is known to be an external-combustion engine. External-
combustion engines get their energy from heat that is produced outside the engine. In
hydraulic engines water pressure is used to produce mechanical work. The pressure
may be created by a pump or by water flowing downward from a level above the
engine.

VIl OTBeThbTe MHCHbMEHHO HA BOMPOCHI K TEKCTY:

1 What are main types of internal-combustion engines?
2 What do diesel engines burn?

3 What do gasoline engines use?

KOHTPOJIBHOE 3ATAHHUE Ne §

UToOBI MpaBUIIBLHO BBITOTHUTH 3amanne Ne 5, He0OXOIUMO YCBOUTH
MaTepuai CIeIyIIIuX Pa3elIoB IPaMMaTHIECKOTO CITIPAaBOYHUKA:

1 I'pammaTrueckue ¢yrkiwu riaaroiaos should , would .

2 O6oporel ¢ WHOWHUTHBOM HM TPHYACTHEM, pPaBHO3HAYHBIM
MIPHUIATOYHEBIM MTPEUIOKEHIEM.

3 Pasnuunble 3HaueHUs cIIOB. as, because, because of, due to, since,
both, and either.. .or, neither.. .nor.

4 T'epynauil.
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Bapuanrt 1

| IlepenummuTe M NHCHMEHHO TMEpeBeAUTe NpPEIJIOKEHUS HAa
pyccknii A3bIk. O0paTuTe BHUMaHMe HAa rpaMMaTH4YecKue QyHKIMHA
raaroJos should u would.

1 | said that we should have a meeting on Monday.

2 You should have asked permission before you took the book.

3 He would often stay late in the laboratory and do experiments.

4 If we received the documents tomorrow, we should start loading
the goods on Monday.

5 If I had seen him yesterday, | should have asked him about it.

] l'[epelmane U NHUCbBMEHHO IIEPEBEAUTE IMPEIIOKCHUA Ha
pyCCKI/Iﬁ AA3BIK. HOMHHTe, 910 060p0TbI C I/lH(l)I/IHI/ITI/IBOM )/ |
NpUIaCTHEM PABHOZHAYHLI NPUAATOYHBIM NMPEIJI0KCHUAM.

1 He doesn't seem to have been discouraged by his failure.

2 The students knowing English well, the examination did not last
long.

3 The captain watched the goods being discharged.

4 The expedition was reported to have reached the North Pole.

5 The article having been translated, the student showed it to
the teacher.

11l TIlepenumure W TNHCbLMEHHO TMepeBeauTe CJeAyIOlIHe
NPEAJTOKCHUA:

1 They didn’t go there because of the heavy rain.

2 He was late due to the heavy traffic.

3 Franklin is known all over the world both a scientist and a political
leader.

4 As soon as you finish your calculations, we shall begin the test.

5 I gave him the book so that he could prepare the task at home.

1V IlepenumuTe ciaeaymoniue MpeaoKeHns] U MepeBeanTe HX HA
pycckuii #A3bIK, oOpamias BHUMAHHME HAa (YHKIMIO U TNepeBo]
repyHaus.

1 Reading English technical magazines is important for an engineer.

2 They finished installing the apparatus only on Saturday.

3 The problem of obtaining power was solved.

4 After receiving good results they stopped experiments.

5 His hobby is driving a car.
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V Ilpouture M ycTHO mnepeBeaute 1-4-ii ad3aubl Tekcra.

Ilepenumure u nucbMeHHO nepeBeaute 1, 3 u 4-i ad3aubl TeKCTa
HEAVY OIL ENGINES

1 Rudolf Diesel made long series of experiments which resulted in
the design of an engine. It was one of the remarkable successes of this
century. Here is an engine capable of working with the cheapest oil fuel,
which is easily stored, occupies little space and is capable of undertaking
all the ordinary duty that modern manufacture and transport impose.

2 It will be interesting to examine the principle upon which the die-
sel engine is based. The efficiency of an internal combustion engine de-
pends largely upon the degree of compression. But it will be recol-
lected that when the compression of a mixture of oil or gas and air
reache a certain point ignition takes place, and there is therefore a limit to
the compression that can be employed. Owing to high pressure employed
the engine is very heavily built, and many firms now make what is
called a semi-Diesel in which the principle is the same, but the initial
pressures are lower. Both two-and four-stroke engines of Diesel and
semi-Diesel types are made.

3 The uses of the internal combustion engine range over nearly
the whole field for which power is ordinary required. The small oil or
petrol engine is admirable for domestic purposes, such as driving a
vacuum cleaner, or pumping water or driving a dynamo to light a house
that is far from a town supply; and to mow the lawns, drive milk separa-
tors etc. The crude oil-engine is being used for electric light and
power station, for pumping water and for driving the machinery of fac-
tories and workshops.

4 For the motor-car and the airplane the petrol-engine, reciprocating
or jet, alone stands. Improvements in steel and light alloy manufacture
have enable it to be made so light and yet so powerful that two new
forms of locomotion have arisen - forms which were dreamt of for
centuries and have now emerged into development.

VI IlpoutnTte 2-ii ad3al TeKcTa M NMHCbMEHHO OTBEThTE Ha

cJieyIouuii Bonpoc:
Why is the engine very heavily built?
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Bapuaunrt 2

| Tlepenummure W NHCHLMEHHO IepeBeIMTEe NPEII0:KEHHsT Ha
pyccknii a3pik. O0paTuTe BHUMaHMe HA TpaMMaTH4YecKHe (YHKIHMH
raaroJjos should u would.

1 1 said that | should be glad to see him.

2 If you wish to succeed you should have more patience.

3 Last year he would get up early and go for long walks.

4 If I saw my friend tomorrow, | should ask him about it.

5 If the goods have been loaded quickly, we should have re-
ceived them in time.

] l'[epelmmnTe U NMHUCBMEHHO IIEPEBCAUTE IPECAJIOKCHUA Ha
pyCCKI/Iﬁ AA3BIK. HOMHHTC, 10 060p0TBI C HH(I)HHHTHBOM H
NpUYIaCTUEM PABHOZHAYHBI NIPUAATOYHBIM MPEATO0KCHUAM:

1 He seems to know everything on this subject.

2 The letter having been delayed, the news reached us too late.

3 We watched him slowly approaching the gate.

4 Mendeleyev discovered the Periodic Law of elements, the table
of elements bearing his name.

5 This young lecturer appears to know his subject well.

Il Ilepenumure W NHCLMEHHO IepeBeauTe CieayOUIHe
MNPEII0KECHUA:

1 Neither he nor | know French.

2 The fisherman didn't go into the open sea because of the storm.

3 He achieved these results due to his hard work.

4 As soon as you finish your calculation, we shall begin the test.

5 The invitations were sent beforehand in order that the delegates
might arrive in time for the conference.

1V IlepenumuTe ciaeayroniue MpeajioKeHns] U MepeBeanTe X HA
pycckuii #A3bIK, oOpamias BHUMAHHE HA (YHKIMIO U INepeBoj
repysaus.

1 There are different ways of obtaining this substance.

2 The car needs repairing.

3 He insisted on repeating the experiment.

4 He was happy to have a chance of working several years under the
guidance of this well-known scientist.
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5 On seeing the approaching train we hurried to the platform.

V Ipourure m ycrHo mnepeBegute 1-5-ii ad3ampl Tekcra.

IepenumuTe U NUCHLMEHHO NepeBeanTe 2 - 5-if a03a1bI TEKCTA.
ROAD DIESEL-ELECTRIC LOCOMOTIVES ABROAD

1 Many experimental units for road service have been built since
the first production models of switcher locomotives established them-
selves. In the middle of the XX century Electro-Motive Division of the
General Motors Corporation produced a 5,400-hp. freight diesel electric
locomotive of four units, each with a 1,350-hp. diesel engine. It was fol-
lowed almost immediately by several 4,000-hp. all-purpose diesel-electric
road locomotives composed of two units, each containing two 1,000-hp. die-
sel engines.

2 The new type of road locomotives though not much different in
outer appearance have undergone radical changes in the interior design
and the flexibility of these new locomotives, is far beyond that thought pos-
sible in the middle of the XX century. Road locomotives may be obtained
with any combination of gearing and horsepower that may be desired.

3 Road freight locomotives are generally built with four-wheel
trucks having all of the weight of the locomotive on the drivers to give
the high starting and continuous tractive efforts necessary for heavy freight
work.

4 Road passenger locomotives are usually built with six-wheel
trucks having two driving axles and one idler axle. These locomo-
tives have a higher horsepower rating than the freight locomotive and
therefore greater weight.

5 The operation of recently built road locomotive has become
nearly automatic with all of the controls of the engine and electrical
equipment concentrated in the operating cab of the locomotive and var-
ious warning bells and lights located there have to indicate the failure
of equipment in the engine room.

The outward arrangement of road locomotives seems to be estab-
lished with the engineman's cab in front and a short nose section is to
protect the crew in case of accident.

VI IIpoutute 1-ii ad3am TeKcTa M NMHCHMEHHO OTBeThTE HAa
BOIIPOC:

What locomotives did the Electric-Motive Division produce in the
middle of the XX century?
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Bapuant 3

| TlepenumuTe M NHCHLMEHHO TepeBeIMTe NPENT0KeHUS HaA
pycckmii A3bIk. O0paTuTe BHUMAaHHE HA TpaMMaTHdYecKue GyHKIHA
raarosos should u would.

1 He said that he would come soon.

2 You should ring her up and apologize.

3 In summer we would go swimming.

4 If you have arrived a little earlier, you would have found me there.

5 If my colleague had time now, he would consult you on that
problem.

] l'[epelmmnTe U NHUCBMCHHO MEPEBCAUTE TMNPEAJIOKCHUSA Ha
pyCCKHﬁ A3bIK. HOMHI/ITC, qTo 060p0TLI C I/IH(I)I/IHI/ITHBOM )1
NpUu4acTueM PaBHOZHAYHBI NPUAATOYHBIM NMPECAT0KCHUAM.

1 The goods are known to have been shipped on May, 15.

2 The petrol being exhausted, they could go no further.

3 We watched them doing the experiment.

4 | happened to be there at that time.

5 This house is said to have been built two hundred years ago.

11l TlepenumuTe W NUCbMEHHO IepeBeqUTe CJeAyIOIIUE
MNPEI0KCHUA:

1 1 gave him the book so that he could prepare the task at home.

2 The chief engineer is either at the office or at the laboratory.

3 | went to the post office in order to send the telegram.

4 They didn't go to the country because of the rain.

5 Owing to the new system of regulation the number of accidents went
down.

1V IlepenummuTe cjeqyoniie nNpeajio:KeHUsT H MepeBeanTe HX Ha
pycckuii #A3bIK, oOpamiags BHUMAHHME HA (YHKIMIO U TNepeBo]
repysaus.

1 Before writing about those events he decided to go to the places
where they happened.

2 His experience in driving a car will be useful for his future work.

3 He began determining the properties of the new material.

4 Our being invited to take part in such conference is very important
for us.
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5 At the meeting they discussed different ways of improving their
work.

V Ilpoutute W YycTHO mepeBeauTe 1-4-ii a0G3aubl Tekcra.

Iepenuiuure 1 NHCHMEHHO NepeBenuTe 2-4-if a03a1bl TEKCTA.
SWITCHIHG LOCOMOTIVES ABROAD

1 A wide variety of diesel-electric switching locomotives are availa-
ble from 20-ton, 150-hp. industrial locomotives to 2,400-hp. transfer
units weighing 180 tons. These various sizes are of all types, some
with two engines and generators; some are equipped for multiple-unit
operation in any desired combination.

2 The smaller diesel-electric switchers were originally developed
for service in the steel mills where the tonnage was light, the curves
sharp, and the clearances much less than those on a railroad. This type
of locomotive was soon found to be practical and economical for
light plant shifting that would not justify the investment necessary for
standard rail road sizes. As a result the popular 44-ton to 50-ton types
were developed with horsepower ratings from 300 to 410 horsepower.
The 44-ton size has met with general favour on the railroads for light road
freight pickups and duty in remote yards and terminals where the in-
termittent and standby time is an important factor.

3 Larger size range upwards to the 70-to 100-ton 600-hp. and the 115-
to 125-ton 1,000-hp. switchers with single engines. The 1,200-, 1,500-,
and 2,400-hp units with weights from 115-ton to 160-ton are used in
heavy transfer, hump, classification yards and terminal service where the
higher horsepower ratings are of value to start and keep moving large ton-
nages.

4 The heavier switchers have two four-wheel trucks with a motor on
each axle and the total locomotive weight on the driving axles for high
starting effort. Where axle load is of an important consideration, they
may be provided with six-wheel trucks, with four driving axles. A few
have been built with six motors where motor capacity was of extreme
importance.

VI IIpouyrute 1-ii ab63am TekcTa M NHCbMEHHO OTBeTbTE Ha

cJIeAyI0LIHNA BONPOC:
What variety of diesel-electric switching locomotives is produced?
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Bapuanrt 4

| IlepenuiunTe W NMUCHbMEHHO TepeBeANTE IpPeIJIOKEHUS Ha
pycckuii a3pIk. O0paTuTe BHUMAaHHe HA rPAaMMaTH4Yeckue GyHKIHUU
raaroJos should u would:

1 1told him that you would leave the city on Monday.

2 You should be more careful when you work in the laboratory.

3 He would for hours doing nothing.

4 If your instructions had been received ten days ago, the goods
would have been shipped yesterday.

5 He would leave the city tonight if he got the necessary docu-
ments.

I HepennmnTe U NUCBMEHHO IICPEBEAUTE MNPECAJOKCHUSA Ha
pyCCKHﬁ A3BIK. HOMHI/ITe, qTo 060p0TI)I C I/lH(l)I/IHI/ITI/IBOM )/ |
Npu4acTueM paBHOZHAYHBI NPUIATOYHBIM NMPECAJT0KCHUAM:

1 Qil has been known to exist in Azerbaijan since ancient times.

2 The preparations being completed, they began the experiment.

3 He wants the work to be done immediately.

4 They are certain to participate in the meeting.

5 The gaseous fuel is assumed to be both cheap and efficient.

Il TlepenuminTe W NHUCHLMEHHO TepeBeAUuTe cCieayloUHe
NpeaAJ0KCHUA:

1 Both the bridge and the tunnel will be finished in time.

2 | could find him neither at home nor in his office.

3 I'll telephone you as soon as | return home.

4 The train did not arrive in time due to the snow storm.

5 The new equipment was used in order to test the vibration of the
engine.

1V IlepenumuTe ciaeaymoniue MpeajoKeHns] U MepeBeanTe HX HA
pycckuii #A3bIK, oOpamiasg BHUMAaHHEe HAa (QYHKUMIO U TepeBoJ
repysaus.

1 Science requires experimenting.

2 New possibilities for applying atomic energy open up.

3 Speaking foreign languages is of importance for every cultured
man.

4 After graduating from the University he worked in the Far North.
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5 | know of your having read the article.

V Tlpoutnte M ycTHO mnepeBeaute 1-4-ii ad3aubl TekcTa.

IepenumuTe u NucLMeHHO nepeBeanTe 1-3-i ad3aubl TeKcTa
DIESEL-ELECTRIC DEVELOPMENT ABROAD.

1 The first diesel-electric locomotives were 300-hp. switchers with one
engine in a box-car type of cab. The weight on driving axles was about
124,000 Ib, which is somewhat less than the axle loads of a modern 600-hp.
switcher. Horsepower-to-weight ratios have been increased, body and
cab designs improved, engine horsepower increased and traction motor
ratings improved. Engines were let down into the frame, lowering the en-
gine-room hood. Engine ratings have been stepped up by redesign and nu-
merous refinements of parts and auxiliaries.

2 The design of the Diesel-electric locomotive enables standardiza-
tion. The engines of the various horsepower ratings for any one builder
do not differ enough in construction to cause production difficulties; the
same is true of the traction motors, generators, frames, trucks and other
component parts. This design policy has made possible the unit re-
placement system. It is seldom necessary to keep a locomotive in the
shops more than ten to twelve hours if the railroad is supplied with
suitable replacement engines, motors, generators, contactors, compart-
ments and other parts.

3 Standardizing the construction of locomotives reduces the first
cost. The flexibility and possible combinations of road locomotives ena-
ble any railroad to purchase any type and size of motive power suitable for
its particular operations without deviating from the established standards
of construction.

4 As the diesel-electric locomotive has been improved and devel-
oped more horsepower has become necessary to produce generator excita-
tion, control power, and to pump greater amounts of fuel lubricating oil
and cooling water through their respective systems and this additional
horsepower must be produced by the engine. Though these parts have
become more intricate they have enabled the diesel to function trouble-
free for much longer periods than was once thought possible.

VI Mpoururte 4-ii ad3a1m TeKCTa M NMHCHLMEHHO OTBeThTE HAa
cJeayrumii Bonpoc:

Why has more horsepower become necessary as the diesel-
electric locomotive has been improved?
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Bapuanrt 5

| IlepenumnTe W NHCBMEHHO MepeBeaMTe MNpPeIJ0KeHHS] Ha
pycckuii si3pik. OOpaTHTe BHHMMaHHMe Ha TpaMMaTH4YecKHe
¢ynkuuu raarosaos should m would:

1 He said that he would return soon.

2 You should test the equipment.

3 They would finish the experiment in time if they received all
the equipment.

4 He would have completed his research if he had obtained the
new data.

5 You should do this work again.

] l'[epelmumTe H NMHCBMEHHO MEPEBECAUTE MNPEAJOKCHUA Ha
pyCCKHﬁ A3BbIK. HOMHI/ITe, qTo 060p0TbI C I/lH(l)I/IHI/ITI/IBOM )|
Npu4acTueM paBHOZHAYHBI NPUIATOYHBIM NMPEAJI0KCHUAM:

1 The invention is considered to be of great importance in shipbuild-
ing.

2 His task having been finished, he left the laboratory.

3 He wants the work to be done immediately.

4 They are said to know the subject well.

5 The results to be expected are of great importance.

11l TlepenumuTe W NUCBMEHHO TepeBeAUTe CJeAyIOLIHe
NPEAJO0KECHUA:

1 You can get to this part of the city either by bus or by the un-
derground.

2 As long as you refuse to apply new methods the output will re-
main unchanged.

3 Special containers were used in order that the supply of food can
be improved.

4 According to the information received by us the ship will arrive in
the 10-th of April.

5 He left in spite of all my protests.

1V [lepenummuTe cieaywue Npeaio:KeHnsl U MepeBeInuTe UX HA
pycckuii fI3bIK, oOpamias BHMMaHue Ha (YHKIUI0O U IepeBoI
repyHaus.

1 Your studying much now will help you in your further work.
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2 For many centuries men were interested in obtaining new sources of
energy.

3 He improved his report by changing the end.

4 We know of his having been asked to take part in this research.

5 Her having mastered two foreign languages helps her in her work.

V Ilpoutute M ycTHOo mnepeBeaute 1-4-ii aG3anbl Tekcra.
IlepennumuTe 1 nucbMeHHO nepeBeaunTe 1, 3 u 4-ii ad3anbl TeKcTAa.

PRIME MOVERS

1 A prime mover is a device that transforms the potential energy of
fuel into mechanical energy capable of performing work. Coal has been a
common source of fuel and energy for many years by producing steam to
drive reciprocating engines and rotative turbines. More recently, gasoline
and other petroleum distillates burned in internal-combustion engines and
in jet chambers have supplemented or supplanted coal entirely as a source
of energy. Water power, usually for driving turbo-generator combina-
tions, has also played an active role. Nuclear energy and solar energy are
entering the scene, some already providing a source of power for rocket
propulsion in a magnitude undreamed of a decade ago.

2 Until recent years, steam has been a universal source of energy for
most transport systems - for ships, railroads, and pumping stations. The
steam engine offers advantages in simplicity of design, construction, and
maintenance, because of conservative ratings, most steam engines permit
a 10 to 25 per cent operating overload capacity.

3 The steam engine has several disadvantages. The engine itself is
usually heavy and bulky, at least for high horse powers. It is often dirty
and noisy, and the problems of water supply are frequently acute.

4 Internal-combustion engines in either the gasoline-burning, spark-
ignited or oil-burning compression type are constant-speed devices re-
quiring some form of speed control through reduction gearing, transmis-
sion, or torque converter. Such devices have been bulky, complicated,
and not always dependable for large installations such as ships, pumping
stations, or small power plants on automobiles, trucks and buses. The
gasoline en engine has found a wide field of usefulness in the airplane, in
which the reduction gearing is not necessary.

VI Ipouturte 2-ii ad3am TeKcTa M NHCbMEHHO OTBEThTE HA

cJIeAyIOLIHNA BOPOC:
What are advantages of the steam engine?

27

COJAEPXAHHUE

KoutponsHoe 3amanme No 4 . . ... ... ... . . 3
Bapuant 1....... .. 5
Bapuant 2 ... .. 7
BapuaHT 3 ... ... 10
BapuaHT 4 .. ... . 12
BapuaHT 5. .. .. 15

KontponmpHoe 3amaHue No 5. .. .. ... . 17
Bapuanr 1 .. .. ... . 18
BapuaHT 2 .. ... e e 20
BapuaHT 3 .. ... . e 22
BapuaHT 4 .. ... 24
BapuaHT 5. . ... . 26



	И. Н. КОМИССАРУК, В. И. КОМИССАРУК
	английский язык
	английский язык (1)
	КОНТРОЛЬНОЕ ЗАДАНИЕ № 4
	В а р и а н т  2
	В а р и а н т  3

	В а р и а н т  4
	В а р и а н т  1
	В а р и а н т  3
	В а р и а н т  4 (1)
	Содержание


